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1 TE Al 50,000 60,000 50,000 60,000 HESUS HSAS
2 doIER 50,000 60,000 50,000 60,000 HESE=2 HESAS
3 SR 50,000 80,000 50,000 80,000 HE8l3 HEAS
4 OH S EF 50,000 60,000 50,000 60,000 HESAS HESAS
5 WA SEl 50,000 60,000 50,000 60,000 HESE =2 HESES S
6 AHSF ol 50,000 60,000 50,000 60,000 HESUS HEs8S
7 S EOFXL 45,000 50,000 45,000 50,000 HESS=2 HESAS
8 AP El 45,000 80,000 45,000 80,000 HEE=2 HEAS
9 ME ol &l 50,000 60,000 50,000 60,000 HEg3S HEAS
10 ==248d 50,000 60,000 50,000 60,000 HEAS HEAS
11 QHE 40,000 45,000 40,000 45,000 HESE 2 HESE S
12 D=4 99,000 109,000 99,000 109,000 HESE=2 HESAS
13 ezl 40,000 40,000 40,000 40,000 HEE=2 HESAS
14 = R20oIE 50,000 60,000 50,000 60,000 HEg3S HEAS
15 P OFAIA 50,000 60,000 50,000 60,000 HEAS HEAS
16 LISAI2Z S &l 100,000 130,000 100,000 130,000 HESE 2 HESE S
17 HILIZIOS & 0 %= 97,000 117,000 97,000 117,000 HESSUS HSAS
18 =0l ESE! 50,000 70,000 50,000 70,000 HESE =2 HESAS
19 O =0oHHI XS & 70,000 80,000 70,000 80,000 HE8l3 HEAS
20 s el 50,000 70,000 50,000 70,000 HESAS HESAS
21 AMORT = & 80,000 120,000 80,000 120,000 HSS =2 HESES S
22 MNAEIS AE 80,000 100,000 80,000 100,000 HESS=2 HSAS
23 Aol el 50,000 50,000 50,000 50,000 HESE =2 HESAS
24 a2 50,000 70,000 50,000 70,000 HEEl3 HEAS
25 200czs A 67,000 105,000 67,000 105,000 HESAS HESAS
26 S 8the2cH A 50,000 70,000 50,000 70,000 HESS =2 HESES S
27 2o 60,000 80,000 60,000 80,000 HSUS HSUS
28 AMAE| 50,000 60,000 50,000 60,000 HESS=2 HESAS
29 cte S8l 50,000 80,000 50,000 80,000 HEE=2 HEAS
30 Ot e = 40,000 50,000 40,000 50,000 HEg3S HEAS
31 ctAHIOIAZE! 40,000 60,000 40,000 60,000 HEAS HEAS
32 M2l 50,000 60,000 50,000 60,000 HESE 2 HESE S
33 HR20l8 40,000 100,000 40,000 100,000 HESS=2 HESAS
34 Hol0 2« 45,000 65,000 45,000 65,000 HEE=2 HESAS
35 orelots A el 80,000 150,000 80,000 150,000 HEg3S HEAS
36 HiCI 2 & 30,000 30,000 30,000 30,000 HEAS HEAS
37 L0l AE 80,000 150,000 80,000 150,000 HESS 2 HESE S
38 AHOoIHE 2! 140,000 180,000 140,000 180,000 HESUS HSAS
39 st=s 4 s M 100,000 190,000 100,000 190,000 HESE =2 HESAS
40 ol = T 60,000 150,000 60,000 150,000 HEgl3S HEAS
41 TZgATE 70,000 90,000 70,000 90,000 HESAS HESAS
42 agpd 40,000 60,000 40,000 60,000 HESE =2 HESES S
43 HS2t 2 S &l 60,000 120,000 60,000 120,000 HSUS HSUS
44 otetCholas AltsAd 90,000 150,000 90, 000 150,000 HESE =2 HESAS
45 SEAH L 59,000 100,000 59,000 100,000 HEgl3S HEAS
46 689 2 & 60,000 70,000 60,000 70,000 HESAS HESAS
47 Sy e 60,000 70,000 60,000 70,000 HSE =2 HESE S
48 sSegge 70,000 90,000 70,000 90,000 HSUS HSUS
49 2= 60,000 65,000 60,000 65,000 HESS=2 HESAS
50 S ey 50,000 60,000 50,000 60,000 HEE=2 HESAS
51 Otel & & 50,000 60,000 50,000 60,000 HEglsS HEAS
52 MOl2oled 50,000 60,000 50,000 60,000 HEAS HEAS
53 OHERo&l 60,000 70,000 60,000 70,000 HESSUS HEs8 S
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107 clhct2 & 60,000 70,000 60,000 70,000 | H=8S HS8lS
108 SHAIEE 40,000 40,000 40,000 40,000 | H=8S HS8lS
109 S8 120,000 120,000 120,000 120,000 | B1S8l3S HS8lS
110 EL DIA 80,000 120,000 80,000 120,000 | B1S8lsS HEBl3S
111 o =28 60,000 70,000 60,000 70,000 | H©s8lS BHS8lsS
112 2= 50,000 60,000 50,000 60,000 | HiS8lS HSElS
113 JE2E 30,000 40,000 30,000 40,000 | H=8S HS8lS
114 B&P= & 50,000 70,000 50,000 70,000 | H=8S HSBlS
115 s alcteAH O 50,000 90,000 50,000 90,000 | H=8lsS HS8lS
116 LIHI &S 8 50,000 60,000 50,000 60,000 | HS8lsS HEBS
117 S8 50,000 50,000 50,000 50,000 | HBis8lsS HSElS
118 328 50,000 60,000 50,000 60,000 | HS8lS HS8lS
119 H=EL2E 25,000 25,000 25,000 25,000 | HE8lS HS8lS
120 BHESZ2E 50,000 60,000 50,000 60,000 | HS8lS HSBlS
121 THE BS & 50,000 70,000 50,000 70,000 | Hs8S HEBS
122 SULZE 40,000 50,000 40,000 50,000 | HBis8lsS HSElS
123 FSc2E 50,000 60,000 60,000 80,000 olat olat
124 SH0I2 8 70,000 80,000 80,000 100,000 olat olat
125 = Qt2 &l 30,000 30,000 30,000 30,000 | H=8lS HS8lS
126 AMELIZE 50,000 60,000 70,000 90,000 olat olat
127 OloteALE 40,000 50,000 70,000 80,000 olat olat
128 IHEI2 & 50,000 70,000 60,000 80,000 olat olat
129 2N I3 50,000 60,000 80,000 90,000 olat olat
130 H-=20E 50,000 60,000 50,000 60,000 | HS8lS HS8lS
131 =28 50,000 60,000 60,000 70,000 olal olat
132 EAADY 40,000 50,000 50,000 60,000 olat olat
133 cgLg 40,000 50,000 50,000 60,000 olat olat
134 gl = 2 &l 50,000 60,000 60,000 70,000 olat olat
135 APEDEY 40,000 40,000 40,000 40,000 | B8 S HS8lS
136 CCK 35,000 45,000 35,000 45,000 | HS8S HS8lS
137 A2 & 50,000 80,000 50,000 80,000 | Hs8ls HEBlS
138 ot2LI2E 40,000 60,000 40,000 60,000 | HBis8lS HS8lS
139 et & 50,000 80,000 50,000 80,000 | HiS8lS HS8lS
140 2L 55,000 80,000 55,000 80,000 | HES8lS HS8lS
141 728 50,000 50,000 50,000 50,000 | HS8lS HS8lS
142 MOl = 2 El 30,000 40,000 30,000 40,000 | BHs8S HEBS
143 HFZE 30,000 40,000 30,000 40,000 | H©s8lS HSElS
144 e 40,000 50,000 40,000 50,000 | HiS8lS HS8lS
145 AHOIBIXNLIASE 50,000 100,000 50,000 100,000 | HS8lS HS8lS
146 HRAZE 40,000 60,000 40,000 60,000 | HS8lS HS8lS
147 NSAZE 50,000 60,000 50,000 60,000 | B S8lsS HEBl3S
148 e 35,000 40,000 35,000 40,000 | H©is8lsS BHS8lS
149 HAE = 60,000 80,000 60,000 100,000 | HS8lS olat
150 bl L A2 E 35,000 40,000 35,000 40,000 | H=8S HS8lS
151 Ol ch &2 &4 40,000 50,000 40,000 50,000 | Hs8ls HSES




